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Instruction: (1) Write the question number as printed in the question paper.

(1) WRAUAML OWAAL UesHLS % GrRASIML Avial.

() wugll el 2isst oL sald €.
(2) Figure to the right indicate full marks.

Lo (¥) UMYl FEINTRET d0ed AHAAl.

1. (A
(1)
(B)

L ()
(A)
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Explain the term ‘s@fs=mar used in First Aphorism.
AHUWOR

A2Auniofl o d s (A9l [AdAdcHs iy avil.

Write a critical note on any one of the following :

(1) e aqed |

(2) 3™ |

STHTER T: Aot AR AR AHAL.

Explain the S/Ama= =d@: Aphorism according to IS,
A94/OR

izl od d s (A9 [dAAHSs Ay @il

Write a critical note on any one of the following :

(1) ST 999 |

(2) =Y SHH T |

ISR, Aol AHAL.
Explain the Aphorism — ¥R,
A1YA/OR

[Max. Marks : 70

AT A SR dlsdd wtelmen s uHiel UMl
Expain the ‘T =19 A kAT statements interpretation according to S/,

1 P.T.O.



(61) ST - I i AlsAeldAl Headl gReGieall galdl. )
(B) Give the information about ¥TEsRaRI’s important view points in SR - Iq:@. 7
HUAW/OR
ydasll dlmiusl Ald Yeloild @50l 53¢ vigr Aol
Explain the refutation done by ¥Ig®{=mrd about followers of the gawmET
Philosopher’s seven important arguments.
3. () ARl oM d ol dlevigia yHadl. R
3. (A) Explain any two of the following passages : 12
(1) ISR § R Ja FEIEsRl AfaewEed: Wil Jaemtathad, qumy T
AT,  SREERECTE,  SUGSEREIGYSY,  STOATcHae AR S e,
IAMMYHR  foRTEred | W @ Qe aIcHoRiFISeaN  STemiora s o
EUSECE | I G| B o R0 11 | o 2 | e M [ R B RIS 221
TaeTeATEm Had= |
(2) IoEA-3AR aEgER s ggagemwwd, oIS, FERIHRIEHr, SEREE &
FARAE  FevEaRasal:  UdEe,  JeqUaReTEe | SeTered
STRNTamTa s Nqsﬁarmﬁ?lc—cru?aﬁr T TEEEHfT U | ST F ST | A
afe ek SRTeHeH MIgHn, adl AaHea R AR |
(3) TEfU ITEAVETEE SE, qUiy iaurery v 93 e sel gueEd | Fe
UIRTART SIIAlThehT-ar afeerdar et Jre=, d5q | $d vaq ? Jgrargrd
TSI | e %Wl"ﬂ?lmﬁﬁ?( G - T= fe e awiaa‘rw
(S1.g. /2/?) T | =RAld framn vads aey ‘aE AEEeee’ — (S, 2/2/4)
“TRIAFT fohaTel T - (g, Y/2/R0)
(4) SAfoTa SR SRR -, stfeRmhierays Mt wemsreEE |
qfe ITEEaar g ST uiduueEeta | i dle ? dercteTeTEeE
TiTIE IR o= Shicad dg-afeg-aR-IeHeHITard | T9 = IMSM - JRISHT a8 Tl
TS 7 7 9% - |
(6)  Da-umiell am d ol wlRels goel uxadl. ¥
(B) Explain any two terminological words given below : 4
(1) o
(2) Fom
(3) SIS
(4) TR
¥, cAlAAl uslAL g5l el Ul (O d ©9) L)
4.  Give the answer in brief : (any six) 12

(1) T o dael Aol

(1) Explain the characteristic of ‘g (Sutra).

() @8Ryl AL (a9l el
(2) State about the composer of sT&gH.
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(3)
3)
(¥)
(4)
(W)
()
(%)
(6)
(9)
(")
(¢)
(8)

5. (A)

(e
(B)
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sraqEAaarg (A9l iy avil.

Write an explanatory note on * SR

AaRdold Al 9 © 2 5dl Ad Wi iy ?

What is the purpose of &= ? How is it achieved ?

t9 wrafaeprr: (a9l eeual.

Explain about &g srefeshr: |

Slradl esir 34 el asdl el ?

Why can’t the senses know the Brahm’s (si&) ?

g9l 2ol el weudl 2Rds edldiql A @vil.
Explain the meaning of ‘¥’ and write the name of STTEAHITMT:.
Gl UR 2 HISIRL (A9l sl

Give the information about other commentators on ‘sl &=".

sl 2 1oy [aseq wrie 530 viel oouL YRl -

Select the proper option from the given bracket and fill in the blanks :
(1) TS SR sl 4812 9. (2L, 9, Ald)

(1) vTEE SRT: accept w1 (Three, Six, Seven)

(2) 15 g | (319, 3T, URET:)

(3) =& | (e, ste)

(4) T S St AT | (399, STia-STTe)

(5) UEHEETET: Sl | (SR, hicd, )

(6) ETcHEH TS WRAINAT T 3
(7) =T 0T TR | (SRR, <G, )
A2 2Assi Asl

Match the columns given below :

(1) arertd g (A) T 5o |

(2) =T gH (B) 3Tl ST e |
(3) THEETEE: (C) et 2T |

(4) RifRHEmE (D) ¥ |

(5) FremeRTm (E) STt ST |
(6) wrETTE (F) &e&d |

(7) o g (G) sEEA |

T | (IMEHIETT:, 1T, JaTeT: )
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